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2 Substitute the second equation
into the first equation to form a 87’)’1, + 25m — 15 =108

single solvable equation

B5m + 5m + 1 = 108
6m + 5p = 108 “6m +5m +2 =25
p=>5m+3 45m+5m+3=108
€25m —5m—1 = 108
Em + 25m + 15 = 108

m ="?

4 Substitute the second equation g
into the first equation to form a 70n -+ 6n —+ 71 =172

single solvable equation

B1n + 60n—70 = 72
11n + 10m = 72c60n—l—6n—0:72
m—=—=6n-—7 970n-6n+7=712

n =7 € 60n—6n—0 =72

fiin—-6n+1=260

6 Substitute the second equation Q
into the first equation to form a 15n —8n -+ 3 =117

single solvable equation

b4on—8n-1=117
4n + 5¢ = 117 %n+40n—15 =117
c—=8n—-3 94n-8n+2=140
n =7 €40n +8n—-1=117

fi5n +8n+3 =117

Name:

1 Substitute the second equation g
into the first equation to form a 10n + 2n + 5=125

single solvable equation

b20n + 2n + 4 = 125
5n -+ 5m = 125 €10n—2n—5 =125
m=2n 14 %+ 10n + 20 = 125
n =7 %n + 10n—20 = 125

P snton+6=10
3 S e secont el @ 24p 1 3p + 4 = 68

single solvable equation

b5, + 18p - 24 = 68
5p + 6m — 68° 18p-3p-2=68
m = 3p—4 d 5p—3p+3 =18
D —7 € 18p+3p—-2=68
t2ap—3p+4=68

5 Substitute the second equation @

into the first equation to form a
single solvable equation

10r +2r +8 =4
b10r +2r + 5 =136
107 4 2¢ = 136° 4r—2r—7=136
c=2r+5 %or+4r+10=136
—7 €10r + 4r—10 = 136
Faror+7=136

7 Substitute the second equation Q 27b + gb —3 =122

into the first equation to form a
single solvable equation

b33p -9 + 11 = 122
4b + 3d = 122 %4b+276-33 =122
d=90b—11 9B3b6+9+11=122
h =7 €27p-9b—-3 =122

b oap—op+4=27
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